
is an asset that is held by significant numbers



Net profit is
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Profit realized:
Profit realized:



To answer this question let us first simplify the problem.
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, an arbitrageur can lock in a profit by buying the

, an arbitrageur can lock in a profit by shorting

If short sales are not possible, investors who own the asset will find
it profitable to sell the asset and enter into long forward contracts.



- Use $40 to repay first loan with interest

Profit realized = $23.40 Profit realized = $16.60
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stays the same (fixed by the contract), but the
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The cash outflow difference of F
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In practice, there are a number of factors not reflected in theoretical

This loss will tend to be financed at a lower than average rate of
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Arbitrage profit:



physical commodity provides benefits that are not obtained by

For example, an oil refiner is unlikely to regard a futures contract on

The crude oil in inventory can be an input to the refining process,

The benefits from holding the physical asset are sometimes referred

finance the asset less the income earned on the asset.

Define the cost of carry as



can be almost completely eliminated by holding a well-diversified



significant number of investors; and

ownership of the physical asset provides benefits that are not obtained

These benefits may include the ability to profit from temporary local

cost of financing it minus the income received from it.

spot price by an amount reflecting the cost of carry.

the spot price by an amount reflecting the cost of carry net of the




